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YOUR FOOD AND ITS UTILIZATION / 39T SIS 371X 3@k
RLDILI

Time: 90 Minutes
Maximum Marks: 50

Note: There are 50 multiple choice questions (MCQ) in the paper. Each question has
four options. Tick the correct option. Each question carries 1 mark. / 39 I3 | 50
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1. The additional protein requirement [RDA (2020)] during the third trimester of pregnancy is
F o, gm, /TS sht diterdt ferwTel o SR 3T, €. T, (2020) o ATER T A
Safarfier SATaITHAT + ... T 2|

A) 15

B) 18

C)9.5

D) 22

2. Which of the following are functions of food? / frfafad @ @ wF-H8 9isH & &1 82 I)
Love and Security / @R 37X & II) Genetics / 3@% 11T) Socialization / GHTSITSRT [V)
Stress / @91 V) Regulation of Body processes / ST ehl [EDIEIKED] NEISESE] T FAMT, Choose
the correct answer from the options given below: A= W@Wﬁﬂﬁﬁ?ﬂﬁﬁ:
A)Lland V/L L3RV

B) L Il and 111 / I, 11 R 11

O)IL, I and IV /11, 1T ARV

D) IIL, IV and V /11, IV 3R V
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3. Match List-I with List-II: / g=fi-1 37 g=-11 & frere shifse;

List-1 / =H-1 List-11 / F=H-11

(Nutrient) / (915 deel) (Function) / ()

a) Carbohydrate / Wﬁ%ﬁé‘& i) Regulation of body temperature / I % ATIHT T
IEREU|

b) Protein / e i1) Helps information bone / %ﬁ'a\@ﬁ & fmtor o weg st
2l

c) Fat /941 ii1) Building of new tissues / T Saent T fAmior

d) Water / STt iv) Excess is stored as glycogen / 31T I3RS o
w9 1 HUE [T SITaT 2l

v) Medium for absorption of Vitamins A, D, E and K. /
foefim @, €, 3 3 & o Ta=nyoT o for ey
Choose the correct answer from the options given below: / ﬁ%ﬁﬂ'{@ﬁﬁ?ﬁﬁﬂﬁﬁ'{ﬂﬁqz
A) a-ii, b-v, c-iii, d-i
B) a-iv, b-iii, ¢c-v, d-i
C) a-v, b-i, c-ii, d-iv

D) a-i, b-ii, c-iii, d-v

4. Which of the following is an example of a voluntary activity? / fH=fctRaa 9 AT
Qfeges iafafes o1 v e 22

A) Breathing / areg =T

B) Digestion / 9T=q

C) Playing Badminton / St et

D) Absorption of food / SIS 2T ST

5. Give below are two statements: / 1< 3 & f¢ T €: Statement 1 : RDA’s are estimates of
nutrients to be consumed daily to ensure the requirements of 97-98% individuals is met in a
given population. /3T 1T 41¥e: Tedl shi o8 FTehicTd AT & fSient fopelt a1 g3 STeiean H 36eh
AT shi Ao STARIHATHT (97-98%) 2l T LA o foIQ Wfafass usiT fer S gfafera s
39T Bl Statement 11 : RDA includes a margin of safety to cover variation between
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individuals, dietary traditions and practices. / 3T, 1. T, T TRt o ot § TS, 3TTER Geleft
ST ST G o6 foTC ek SeITdl sht TSIIRT WiHATerd Tt 2l In light of the above
statements, choose the most appropriate answer from the options given below: /ECFEIW FU F
SehTRT | A< o forered H & were Suged ST I
A) Both statement I and statement II are correct. / ¥ | 3R YA 11 341 Tt 2
B) Both statement I and statement II are incorrect. / S | SR YA 11 ST TTeAd 2
C) Statement I is correct but statement II is incorrect. / = [ Tl H m\) U 11 T =l
D) Statement I is incorrect but statement II is correct. / Y I Teld H F%'ngf e 1 Tat

6. ICMR (2020) has recommended the conversion factor for carotene: retinol as: / a7Ts, . U,
T, (2020) o STTER AL 2l AT § TRATIT LA T T[0T &:

A) 4:1

B)6:1

C)8:1

D)2:1

7. Which of the following are the uses of RDA? / fafefaa 0 @ 3T, & U SH-FE
¥ I) Decide import and export policy of food / @TeI et sht efrara-farta Hifa Fetor & o
11) Help catering establishments to calculate food to be ordered / @I TSI a1 U UTEHT
I @ Hepeht Arevahar Feifia s & fT 11D) Selection of high yielding crops / 359 3T &4
3Tt BEEAT o1 =199 [V) Enable the government to predict food needs to the population / BTEHR
ST ST shT HIST 3hT HATTFHT T STFHH T 6 f1C V) Improving soil fertility / HaT i
SéTﬂTﬁﬁ%TR, Choose the correct answer from the options given below: / e few e forepeat &
T Tl W ﬂﬁ@:

A)LIland V/L I 3RV

B)IL IV and V /1L IV 3RV

C) L Mand IV /1, I AR IV

D) IIL, IV and V/ IIL IV 3RV
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8. Given below are two statements. / 1= &1 2 {3 T & Statement I: A balanced diet is
never generalized and same for all individuals. / ¥ [: Th 1:@\?1?[ RN Rt off aeft srfrant 6
fore T € 21 |kl Statement 11: A balanced diet is specific to an individual age, sex,
activity level and region. / ¥ I1: Ush {‘igll?dd ITER AT Fi SR fed, foram wax oM & fawy &
fT grar 21, In light of the above statements, choose the most appropriate answer from the
options given below: / ST T o Teht=T H i<l o forehed H & Tordl TR 3T T
A) Both statement I and Statement II are correct and statement II is correct explanation for
statement [. / o [ ST HYA [1 ST €& & ST FYA 11 e 1 o [T T Teieho g
B) Both statement I and statement II are correct and statement II is not correct explanation for
statement 1. / I [ 3T KA 11 aﬁ%”r%%w [IhYA 1 %Wﬂﬁ@@wﬁél
C) Statement I is correct but statement II is incorrect. / ¥ I T ® e e 11 T 2
D) Statement I is incorrect but statement II is correct. / Y [ TeTd 2 ifeh e 11 T 2

9. Which of the following food is NOT included in body building food group? / f=fafaa &
Y HH-AT WIS IR AT 7 a1l @l ot | 3THe 81 82

A) Milk and Milk products / 34 3T g8 % 3cd1q

B) Root vegetables / 7€ dTeil gfssat

C) Pulses / &/eA

D) Meat and eggs / g 37 370

10. Depending on the physiological functions, food can be divided into ............. food groups
in the daily food guide / fSFaTeHeR Tt o TR W e ieT SR § @I ueTei & ...
gt # forfera foparm ST wekar 2

A) Three / a9

B) Five / UTd

C) Six / ®:

D) Four / 9
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11. Given below is the path followed by the food in the body. Arrange them in correct
sequence: / IR T e fFferfaa WP'TQW%I 3 3T Rl TE sh | A ked hIfe: I)
Oesophagus / STt IT) Small Intestine / BRI IIT) Large Intestine / SISt 3t V)
Rectum / HARM V) Stomach / ATHRT VI) Mouth /ﬂ"é’, Choose the correct answer from the
options given below: / T ]%Q e foreredl # 9 T8t I TglﬁlQ:
A) VL V, L IIL I, IV
B) VL, I, V, I, 11, IV
OLVLILV, LIV
D)L IIL VI, 1V, V, 111

12. Digestion of fat occurs in ......... /AT hT U ............... HE@AT R
A) Stomach / JATHRTI

B) Mouth / §&

C) Small Intestine / Bt AT

D) Large Intestine / €t AT

13. Chewing of food helps to ......... /NS ITEH ... 7 Teg e 2|
A) Increase the surface area of food / WIS o ¥qg ?aﬂﬁ‘oﬁ:—a’

B) Break fat into small particles / IJGT ! DI FHON H dle

C) Emulsification of food / IS ST YT IRLOT

D) Increase bulk of undigested material / 3T9=ITT W%Wﬁ‘{%

14. At years of age, 99% of brain growth of the child is complete. / .......... ag i
3T T TG d-Ug o sFeel o HIh T 99 ST forehr 901 &1 e 2

A)?2

B)3

C)4

D)5
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15. Which of the following are secondary sex characteristics? / frafafaa @ @ - Mo e
forgreand 22 I) Development of testes in boys / ASHI U ST 1 forepra IT) Growth of public
hair / ST o STTE-UTH STl ST ST [1T) Development of uterus / B INDECAREEr) V)
Change in voice / 3TdTSI H SeaTd V) Hair growth in underarms / ST T Tt a6t forerm,
Choose the correct answer from the options given below: / = few e foreheat 7 @ T S

RIGIE

A)L Il and 111/ 1, 11 3R 111

B) 1L, IV and V / IIL, IV 3R V
C)IL IV and V /11, IV 3RV

D)L, IVand V/I, IV 3RV

16. On the horizontal axis of growth chart, we plot the ............. of the child. / ferrra =md o ugh

A) Height / =8
B) Age /g

C) Weight / a9
D) BMI / st.UH.3TTS.

17. BMI classification in the range of 23-24.9 kg/m2 (for Asian population) is categorized as:
/23-24.9 ToRum / w12 <. WH. TS, (TR STTETET) 1 SfieRteT ford &t § shir?

A) Underweight / 3cqasiq

B) Normal weight / 9THT 9

C) Overweight / AT I

D) Obesity / HI2TaT

18. Match List- with List-1I: / &=i-1 31 g=-11 9 fHet i
List-I/ Tefi-1 List-11 / G=i-11
(Nutritional Assessment Method) / (Techniques) /
(dToT FeteR farfer) GERIED)
a) Anthropometric / BIECIRG) 1) Tongue examination / ISRt
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b) Clinical / TeIforeh St ii) 24-hr diet recall / 24 99 AER
TOTAT
¢) Biochemical / SIeRM@RIeh iif) MUAC / S0l SIS 72 sh aitfer
d) Dietary / 3TTeR fgior iv) Communication / 99X

v) Haemoglobin estimation /
ST Tdvegor
Choose the correct answer from the options given below: / = few e fasheat & @ T I
RIGIE

A) a-ii, b-iii, c-iv, d-i
B) a-iii, b-1, c-i1, d-v
C) a-1, b-1v, c-ii, d-iii
D) a-iii, b-i, c-v, d-ii

A) FSH / T%. Tg. T4
B) ACTH /T, €. & .

C) Adrenalin / G@-’-Hals:l
D) Thyroxine / ¥R

A) Overweight / 377 gt

B) Underweight / 3IcqHR

C) Obese / Tqrer

D) Normal Weight / 9THT I
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21. What are the three factors, which influence body weight? /&H I T ohl T i T
T Tk oRIT 82 I) Age / ATg 1) Economic Status / el fearfa [IT) Gender / fof IV) Body
Composition / IR T sH1EC V) Educational status / 3iferes ferfd, Choose the correct answer
from the options given below: / Fra fou e forepeat o & wEt S E\lﬁlﬁz
A) L 11, 1T
B) L, III, IV
O I 1L, V
D)LIVV

22. As per ICMR 2020, the recommended intake of iron in pregnancy is ............. mg/day. /

TS, Y. TH. TR, 2020 3 ITTHTC THEEAT H TG AT shT STEATIHT AT oo Tt/ T
@l

A) 15

B) 22

C)27

D) 30

23. Match List-I with List-IT: / €= =61 g=f-11 § firam shifsre;

List-I/ F=fl-I List-IT / F=h-11

(Nutritional Deficiency) / (91597 &Y SHT) (Disorder) / (for&T)

a) Vitamin A deficiency / Tt T ot T 1) Anaemia / THdTeIdT

b) Protein energy malnutrition / NI el @‘?ﬁw ii) Fluorosis / SIUIT&

¢) Iron deficiency / SANE ded ohl St 111) Keratomalacia /
EREERINEI]

d) Iodine deficiency / 3TRNE T FHHY iv) Kwashiorkor / aTf¥RIRRR

v) Goitre / TTeTTg
Choose the correct answer from the options given below: / i few o foreheat @ @ w9 W

Sfre:

D

A) a-iii, b-iv, c-1, d-v

B) a-iii, b-i, c-i1, d-v
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C) a-i, b-1v, c-11, d-i1i

D) a-ii, b-iii, c-v, d-1

24. Which of the following are risk factors in pregnancy? / freafafaa o @ Fi9-a1 mfewen §
SR e 22 1) Age below 18 years / 18 T9° 1Y 1) History of abortion or
miscarriages / TUTA T SfaRT IIT) Weight above 45 kg / 45 foretiom @ stferes s IV)
Regular health checkup / Fafia wamees St V) Alcohol abuse / AT =T 21185 ¥, Choose
the correct answer from the options given below: / Fra fou e forepeat o & wE SR E\lﬁlﬁ:

A) 1, IIand I1I /1, IT 3R 111

B)L, IIand V/III, II 3R V

C) IIL, IV and V / IIL, IV 3RV

D)IL, IV and V/IL, IV 3RV

25. The development baby from the 8th week after conception until its birth is known as
........... / LT 3 TS TATE o ATG H STH T o (AR RIT B ooveeneeee..... HET ST B
A) Foetus / 40T

B) Embryo / 35T

C) Egg / i<l

D) Ovum / fem=

26. Given below are two statements: /<< &1 2 f&& T €: Statement I : Colostrum is a thick
yellowish milk that is secreted in the first three to four days after delivery. / &% [: 79574 Tsh
WW@%@W%WWW@W%ﬁH@HW%I Statement II : Colostrum is a
rich source of nutrients and protects the infant against many diseases. / s I1: W?H@W
qeal @ "L BT & 9T & 3Tk W & ﬁfr{g ht TET hdT %I, In the light of the above statements,
choose the most appropriate answer from the options given below: /ECR\?TDHH YT & TR H
A fo forshedl W & w@t 39 I T

A) Both statement I and statement II are correct. / ¥ | 3R YA 11 3T Y 2

B) Both statement I and statement II are incorrect. / e [ 3T &Y 11 ST T 2

C) Statement I is correct but statement II is incorrect. / Y I T&l H ?%‘Tv\[ FUF 11 T B

D) Statement I is incorrect but statement II is correct. / F [ TAd & W FY [ T&l
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27. Food which are fed to infants in addition to breast milk are known as ......... food. / ﬁsr{g
1 HT o g4 o HIY-81Y o T @ @ ..........o.o RN FHEAT &
A) Supplementary / 3779
B) Complementary / qTh

C) Processed / T8Ehd
D) Functional / R

28. According to ICMR, 2020 the additional protein requirement for a lactating woman
during 6-12 months is: / 3TS. €. TH. T, 2020 % FTHR 6-12 HEHT o S T L aTeh
afget & fore stfafer T it stawear 2

A)+17gm/ + 17 T8

B) +22 gm/+22 UM

C)+13gm/+13U™

D)+9.5gm/+9.5 IH

29. Given below are two statements: / T=r a1 T fed T 8: Statement I : Chocolates, sweets
should not be used as bribes for preschoolers. / ¥ I: T*fl%'ﬁ?.’, ﬁIIB'I'sCW‘o’CI'q:FT q jeogcd(i =
* f_c'lE NERE R LR ERACRINSIC] Ttl'l'i%’Ql Statement II : Such practices can lead the child to
believe that such foods are good. / U I1: wa@aﬁmaﬁﬁﬁwﬁﬁwm%%@
@ yere 318 @1 Codes: /%Z:, In light of the above statements, choose the most appropriate
answer from the answers given below: / ST ST o Tehre # i< o forshedl # & wed
SERCIESIINCIEIeE

A) Both statement I and statement II are correct and statement II is correct explanation for
statement I. / ¥ [ 3 FHAT 11 SHT Tl & 3T HAT 11 U7 | %W@W%l

B) Both statement I and statement II are correct and statement II is not correct explanation for
statement 1. / I [ 3T KA 11 ST GT @ TR hA 11 24 1 %W@Wﬁél

C) Statement I is correct but statement II is incorrect. / Y= [ Tl & Sifeh A 11 7o 2

D) Statement I is incorrect but statement II is correct. / Y [ TTeAd 2 ifeh e 11 T 2
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30. Which of the following nutritional guidelines will you recommend for a school going
child? / Tt ST ATt sl o 1A A1 frAfetiiad # @ forg aiwor gsieht fewmiaer shi fawrie
FaT? I) Don’t skip breakfast / AT 7 B IT) Encourage eating in the canteen / FTH @H F
TredTied il 1) Avoid junk food / quéﬁa% IV) Eat protective foods like fruits and
vegetables / el M gfssrat S9 QLTcHS T ‘ZIETQ?@TQ V) Consume sweetened carbonated
leverages / S HTAIES U UGt &1 Ta ahil, Choose the correct answer from the options
given below: /ﬁ%ﬁq@ﬁmﬁﬁﬂ%ﬁﬁﬂﬁ?:
A)L 1l and 111/ I, IT 3111
B)IL IV and V /IL IV 3RV
C)L I and IV /I, III 3R IV
D) IIL, IV and V /11, IV 3R V

31. Which of the following is the best food to be given as a packed lunch for school? /

frefetiiaa o @ i8IS Tehet oh foTe Ueh fohu 11T F19e o HIST o &9 H fe21 S arell qerdt
T IS 27

A) Bathua paratha with curd / XS] SYAT 3T

B) Momos / ATTST

C) Chhola Batura /@ﬁwazgr

D) Bread Pakoda / SIS UhigT

32. Which of the following is NOT a principle of planning diet for a diabetic adolescent? /
ffcTiad o & = wyHe © T foheTi o HATeR FirsiH =1 fgr & 22

A) Avoid fasting / 518 T @

B) Foods high in sugar should be restricted / tl“ld“lgljord CIBR R R IR RS E R Y

C) Strictly follow insulin dosage and timings / ‘5’11%!7[ girsh 3T 0T T Td] F U i
D) Refined cereals can be taken freely / BET | o QT YTy ohl Taa &9 ¥ foram ST wehdrt 2
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33. Calorie and ............... rich food should be taken to support the growth spurt in
adolescents. / ToRETIRT # SRR g 3T T & Al @l ............. W@WW@T?T%QI
A) Protein / T
B) Vitamin / faerfim
C) Fibre / @1
D) Mineral / [CIEERTCI

34. ... is the period when secondary sexual characteristics develop and sexual
reproduction becomes possible. / ............ IE 1Y § e Mot I farerand faesfa gt §
RIER SRR CRIC I I

A) Adulthood / IIERTIEAT

B) Puberty / TR

C) Growth Spurt / foerra & asft

D) School age / Thel ATEIT

35. The daily diet of an adult man belonging to middle income group should have a minimum

36. Women have higher ......... requirement than men to compensate for loses through

menstruation. / AT & ................... T SATTIHAT T hl T & AT Bicll & HT(h 3TH
HITHeh 9 o HTEH ¥ 3Eeh! &1 B ol

A) Fat /9491

B) Iron / e qc

C) Calcium / hfeIrm

D) Protein / T
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37 e, is the age related loss of muscle mass, strength and function. / ............... Y
TR U SehT dTehd 371 T &T9aT § 371 aTeft shul 2|
A) Fatigue / Yp1dd
B) Muscle weakness / AU & HHSTRy
C) Sarcopenia / RIECARIED])

N O

D) Frailty / 9THT shHSI]

38. As per RDA (2020), the requirement of Vitamin D for population above 60 years is ...... /
HI. 2. T, (2020) 3 HATER 60 TN & Hereh T AT o foTu forerfi St hi Arerearehan

.................... 2l
A) 1200 TU
B) 1000 TU

C) 1100 TU

D) 800 TU

39. Meals-on-wheels is an initiative where meals are delivered at home of ........ / <rerar-feear
TSI U8 o AT ... T 3ok TR UL & ST SUeTse T ST 8

A) Elderly / 3G @RI

B) Pregnant women / Tt Afgaret

C) Adolescents / Tepamiay

D) School going child / TheT ST ATt sl

40. According to ICMR (2020), the EAR for elderly man and woman for calcium has been set
at ........... mg/day. / 3TTs. ©Y. T, 3R, (2020)%%%%%@@ IR AT
s Tl .. Tt/ e faffa foram mar 2

A) 800

B) 1000

C) 1200

D) 1100
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41. While planning meals for elderly which of the following factors should you keep in mind?
/ ST oh T WIS T ATSHT ST S8 SAT9eh! fHTerRad § T sheht shl €4 H T =mieu?
I) Include milk, ragi, til to meet the calcium needs / hicIry sht ST ohl qa FH & fom o,
T, foret wmfireT &t IT) Include foods from all the groups / €+t ITEI@ o T UgTeT ol IMTHS ol
I1I) Include 10-12 glasses of water daily / TSTHT10-20 T qrt S Ifiret L [V) Pressure
cook the foods to ensure soft texture / ngﬁfﬁﬁ R R'N CIB| wsﬁaﬁﬁwgwa%{
V) Include less fruits in the diet / 3ATER T Y %Al sl I i, Choose the correct answer
from the options given below: / Fra fou m fashedt O @t S E\lﬁlﬁ:
A) L Mand IV /L I RIV
B)LIVand V/L IV 3RV
C)IL Il and V /11, I1I 3RV
D) IIL, IV and V /I, IV 3RV

42. Match List-I with List-IT: / €= 31 =11 § e shifsre;

List-I/ F=fl-I List-IT / F=f-11
(Anthropometric Measurement) / (@ﬁ'ﬁﬁﬁ% 1) (Inference) / (STTHT)
a) Height for age / 3119 * SRS 1] i) Wasting / &fiordr
b) Weight for age / 311J * &Y {I 11) Measurement of fat reserves
/ FET ST T HT
¢) Mid-arm circumference / 394 a8 % e W <Y afefer 111) Overweight / T IR
d) Weight for height / TFITS o 3TT&Y s iv) Stunting / fETrer
v) Underweight / 3TcTHX

Choose the correct answer from the options given below: / e fou T forehedt O Tt ST aﬁq:
A) a-i, b-1v, c-ii, d-iii
B) a-iii, b-i, c-ii, d-v
C) a-iv, b-v, c-ii, d-i

D) a-ii, b-iii, c-v, d-i
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43, e, assessment mainly deals with measuring the level of essential dietary
constituents in the body fluids like blood and urine. / ............. WH@T B9 Y T 3R 7
10 YT S e TSR 3 AT St 6 T o A e 2
A) Anthropometric / TS et
B) Biochemical / SEHEIRIEED
C) Clinical / 7T uieqor
D) Dietary / TR Haleqor

44. A waist to hip ratio of more than ............. in women is an indicator of abdominal obesity.
/ TfEATSAT T T 3R e 1 ST oo  3fe T & T 1 G 2

A) 0.85

B) 1.0

) 1.5

D) 0.5

45. A dish containing 10 gm carbohydrate and 5 gm oil will provide how many calories? /

10 T FTETETES TR 5 TTH TEIIA Teh S fohd 1 heA Rl TG HiTil?
A) 85 Kcal / 85 Toretiehatit
B) 75 Kcal / 75 Toretiohetiit
C) 80 Kcal / 80 ferattehet il
D) 90 Kcal / 90 Teretiehat iy

46. As adults grow older they need to reduce .............. intake to avoid obesity. / S-S T
TS BT ST AR T e o foaw .......... Yo T W T T SATTTIHAT Bl 2

A) Vitamin / feetfim

B) Energy / St

C) Mineral / CIEE ]

D) Protein / I
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47. Which of the following factors affecting food acceptance? / fFreferfiad o & sH-a1
QT %olhlcchl?'l 1 gTferd LT 22 I) Food associations / ’ﬁﬁ?ﬁm;ﬁ TS IT) Regional
variation / &3 f=TaT I11) Food rejections / 3TEI<Ih @I 9gTY [V) Educational status / &1k
ferfa V) Favourite foods / 4GEteT @I UeTd, Choose the correct answer from the options given
below: /ﬁ%ﬁqw%ﬁﬁﬁﬂﬁﬁ?ﬂﬁ?:

A) 1L, I and IV / IL, 111 3R IV

B)L Il and V /1, III 3R V

C)L IV and V/1IL IV 3RV

D)L, IVand V/I, IV 3RV

48. Given below are two statements: /== a1 &9 {3 T &: Statement I : Restrict your water
intake in order to lose weight. / T I: I T A o T 319 T AT T Efid )
Statement II : Restricting water intake along with crash diet can cause dehydration and even
put stress on cardiovascular and renal system. / h¥ II: ST BT32 o foTT | urt o6t Te Hifera
T TSICToRtoT 81 TRl & TR A& o o FaaaTieent A SIS o UL JelTa 3cq &l HehdlT 2,
In the light of the above statements, choose the most appropriate answer from the options
given below: /3UGed ST o Teh1eT # =l T foreredl H & Herdl Sug Tt g

A) Both statement I and statement II are correct. / ¥ | 3R Y 11 31 Tt 2

B) Both statement I and statement II are incorrect. / ¥ | AR A 11 A1 TTeTd &

C) Statement I is correct but statement II 1s incorrect. / <h¥d | ot e fzhrg I 1] Tl 2

D) Statement I is incorrect but statement 11 is correct. / 9T [ TTId & 1%)'7{)[ FUT 11 Tal B

49. The main aim of manufactures is to increase sales and make profits, not to promote ........ /
frmtaratt o1 e Seva forshl g SR A AT 8, T e T ST T

A) Brand / 5v€

B) Health / &8

C) Medicine / gdT§

D) Company / ¥t
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50. Given below are two statements: / 1= g & o T &: Statement 1 : Desi eggs are more
nutritious than Vilayti eggs. / &4 I: <€t 3708 faarmdt s1vei ?m&‘gljFFﬂ T 7ferek NS B
Statement II : ‘Vilayati’ indicates bread of hen and does not affect composition of egg. / I
11 “foretrardt” srse Hff <hl T&eT sh ST oLl & 31X 37U Al €T ! TSI a1 AT 2, In the
light of the above statements, choose the most appropriate answer from the options given
below: /3UYH AT o T H <l fo forehedl § & Hedt SUFH I IHT:
A) Both statement I and statement II are correct. / h¥- | 3T A 11 SHT Tt 2
B) Both statement I and statement II are incorrect. / S | R YA 11 ST TTeAd 2
C) Statement I is correct but statement II is incorrect. / sh | Hﬁ%fm‘ﬁ FU 11 Ted 2
D) Statement I is incorrect but statement II is correct. / Y [ TeTd H W FU 11 Tal B




